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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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rate of interest is i

from

will increased by then find his

invested money e sarar &Y Z

aids ¥ 10% 9fad a¥ & e @
gfd af 12.5% & & It g, a

Us gfed & aifde 3T & 1600 |

(a) 64000 (b) 6400 (c) 16000
(d) 1600 (e) None of these

If annux
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BWI_Q_a_schemef R@
years and received 920. W @
would be the New amount if
.

t of interest would be
(3% more? Rs. 800 3 T +
Thia A @ar fhar

AT 920 wread fFw | I
SOt &T 3% 3’9« geit ar
A% TR 41 gah

(a) 950 (b) 962  (c) 952
«.(df992 (e) None of these
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1200 invested at a ain rate of 1200

interest becomes iBOOSfter 5 % eo°

what would be the new amount |f @ - ﬂ

the rate of interest would b# \rLo°

lower than before. 1200 00 __\of
X foaer far a1 5 91T & L Sl= '
ag 1800 g T ¥ I suT= NP
&T 9gd I JoelT A 2% m

geft @ 71§ TR Aw\,;woozilo

(a) 1220 (b) 1780 ) 1 80 (6 80
(d) 1580 (e) None of these
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6000 becomes @ fter 4 years. Q\ 5000
What woyld be the (hew) amount )
afte B{ﬂ the rate_of interest

he previous rate?

will be
sI Y MBTF2T X 6000 7 , 4

mmnooam%l savﬁ
& dg a5 TR F4r
SO #1 X NATe aT
AT g7

(a) 8250 (b) 8600

(c) 8900 (d) 8000

(e) None of these
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Rs 12000 will amount to Rs 16000 at certain / <

rate of Simple interest in 5 years . If rate of 5 2
interest will /decrease by(é;per annum then uoo
find pew. amount/Also find amount at the end €\~
of 8 yearsjat Tower rate of interest ? 5 ast #
12000398 & [T HYUROT SIS &Y
fafRea & ¥ 16000 393 ghftl I =arer 1S+
#r T 3% ufad af & &7 & e, ar a8 Sl=2
Ufr g AT | T T A FA QW W o ’ ,
8 a¥ & 3 # AT M T DT M, 80°,

(a) 14200, 15520 (b) 14200 ,17800 ’Oo/ Al
(c) 14200, 16800 (d) 14200 ,15800 (69~

(e) None of these >
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A sum of 81000 is divided in two part in such OV H660 N\

a way that Sl on first part at 12% per annum
in 5 years will beg equal to SI on the other
part at 6% Per annum in 8 years . Find the @

sum of money in each part? 81000 @r Ifer ' 2
@ T A gW e ¥ RS R - el —}f
AT & F 9ge Her W5 a¥ # 12% ll‘/‘b{

g et F @A SI, R AT W sa« & — }/, B
6% Ui a¥ & T & SI & SET g | A

AT HIT F U T AT S|z
(a) 45000, 36000 (b) 48000, 33000

(c) 39000, 42000 (d) 24000, 57000
(e) None of these
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A sum of Rs 11200 is divided i threeparts in ch a o) A . H.
n20 ol
way that Simple Intg on first part at 6* ‘o <

annum fo('5 y ars is o Simple Intereston the
second part at{5% per annum fo

also equal cw @ rt at 6%

per annum Tt years . Find the Sifmiple Interest 0
received on each part ? 11200 m sl MR I J J\

nand it is

ﬂ:%ﬁ%ﬂwsmtma%uﬂaﬁ
fama & | , TAY REY W 6 |
fatrS%uﬁaia?raT#mmm S1LEA]
ﬁmwama:favs%w%aﬁa:m

d HTYRUT 4TS & S& ¢ dd UdA$ AT
9Icd HTYRUT T ATd HIAA?

(a)1200 (b) * 800 (c) ' 900
(d) 720 (e) None of these
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45000 inyested in three emes ater
annumb‘a er annum &
years, 2.5 years & : 2 . A -

end of each scheme

B? 45000 & i ANFSIT A 5% wiQdw, -
6% ufaay 33X 8% ufa a¥ #HAm: 6 av, ‘
25 a¥ 3 5 a¥ &F v @A3wr f&Fam

UAS AT & Hd H AT HYUROT g1

rear 81 &= B & Ay fFar T u+

AT HfAT?

(a) 12000 (b) " 8000 (c) " 9000

(d) " 24000 (e) None of these
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A man deposited a sum of 34480 in the bank
account of hi ee sons in such a way they will

et/ equal amount at the age of 25 year resent
age of his sons are 19 years , 21 zyéaﬁ;@vears
. while bank is giving nnum simple
interest . then find moneydeposited in account of

each son ? T&H M?m & d&

et Ife 39% 9 aﬁra'c'mmmw

21 af 3k 23 af ¥ safF &F FawT 5
mmtm%lmmgt
A AT a0 AT FL?

(a) 10560, 11440, 12480 (b) 12530,11440, 12480
© 12640, 12530,11440 (d) 12790, 12530,11440
(e) None of these
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7930 invested in three schemes for 2

aars, 3 years & 4 years respectively at
nnum. If at the ¢ %
em

ay receivec

& ¥ HAY: 2 ¥,

S5

(a) 2760 (b) * 2530
(c) " 2640 (d) " 2790
(e) None of these






